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HU 
On t he grid provided, draw a 
right t riang le w it h whole 
number side lengths and a 
hypotenuse of 10 units . The 
length of t he side of each 
square is one unit . 

[ 
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For this item, a full-credit response (1 point) includes: 

 a right triangle with leg lengths of 6 units and 8 units and a hypotenuse of 
10 units 



    

  

   

W=i 
A square, with side lengths, has an area of 324 square centimeters. Th is equation shows the area of the square. 

s 2 = 324 

What is the side length of the square in centimeters? 
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For this item, a full-credit response (1 point) includes: 

 the value 18 



    

   

     

 

      
 

 

       

   

      

       
 

    
 

 
  

 
  

 

Six fr iends are go ing to buy pizza . Their choices are to buy 2 
med ium 10- inch diameter pizzas fo r $7 .00 each, or 1 large 
14- inch diameter pizza for $15 .00 . Both prices include tax and 
t ip. 

The friends ag ree that the ir best choice is the one that gives 
them the most pizza for the ir money . 
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For this item, a full-credit response (2 points) includes: 

 choosing 2 medium pizzas and providing an explanation as to why 

For example, 

 The area/ amount of the two choices of pizza is about the same, but the 
 

OR 
 The area/amount of the two choices of pizza is about the same, but the 2 
medium pizzas are less expensive.  

For this item, a partial credit response (1 point) includes: 

 2 medium pizzas with irrelevant, flawed, or missing explanation 
OR 

 1 large pizza, but uses a correct process with minor mathematical error for 
1 point each 

For example, 
  
OR 

  

Continued on next page 
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For this item, an incorrect response (0 points) includes: 

 1 large pizza and an irrelevant or missing explanation 

For example, 

  

This item is not graded for spelling or grammar 



    

   

   
   

 
   

 

 

    
 

    

  

  
    
 

  
  

WJ 
Rachel says the sum of a 
pos it ive number and a negative 
number always equa ls a 
negative number or zero . 

A. Drag numbers into the boxes 
to create an example that 
supports Rachel's cla im. 

B. Drag numbers into the boxes 
to create an example that 
shows Rache l's cla im is fa lse. 

-6 

- 5 

-4 
-3 

-2 

- 1 

0 

1 

2 

3 

4 
5 

6 

G 4•@¢1 ft 
A. Supports Rachel 's Claim 

D+D=D 

B. Shows Rachel 's Claim is False 

D+D=D 
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For this item, a full-credit response (2 points) includes: 

 any negative number and positive number that sum to a negative number 
or zero in part A 
AND 

 any negative number and positive number that sum to a positive number in 
part B 

For example, 

    
AND 

    

For this item, partial-credit response includes: 

 any negative number and positive number that sum to a negative number 
or zero in part A (1 point) 
OR 

 any negative number and positive number that sum to a positive number in 
part B (1 point) 



    

   

    
 

     

 

       

 

Hd=i 
Use the Connect Line too l to 
draw the image of the fi gure 
after t he fo llow ing 
t ransformations. 

• a ref lection over the x-axis 
• a horizonta l t ranslation 7 

un its to the left 

y 
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For this item, a full-credit response (2 points) includes: 

 the figure reflected across the x-axis 
AND 

 the figure translated 7 units to the left 

For example, 

For partial credit, the student completes one of the above tasks for 1 point each. 

Continued on next page 
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For example, 

 the figure reflected across the x-axis 

OR 
 the figure translated 7 units to the left 



    

    

   
 

    

      

fl¥) 
Justin's car can travel 77 ½ 
miles w ith 3 / 0 ga llons of gas. 

Kim's car can travel 99 ½ miles 

w ith 3 ½ gallons of gas. 

At these rates, how far can each 
car travel w ith 1 ga llon of gas? 

Drag each person's car to the 
number li ne to show the 
number of miles. 

20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 

Number of MIies 

Justin's 
car 

+ 

Kim's 
ca r 

+ 
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For this item, a full-credit response (2 points) includes: 

 -mile mark 
AND 

  at the 31-mile mark 

For partial credit, the student completes one of the above tasks for 1 point. 
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100 
The schoo l is 100 meters from ...... 

VI ... 
Jason's house . The fo llowing QI 90 

~ describes his most recent t r ip : E 80 
• He walked 50 meters toward ·= 

schoo l in 2 minutes . He s: 70 

rea lized t hat he left a book at 
::) 
0 60 

home. J: 

• He tu rned around and walked 
,VI so C 

home at t he sa me speed . 0 
VI 

• He spent 1 minute looking <ti 40 .... 
for his book. E 

• He walked all the way to 
0 30 st: 

schoo l at t w ice his original QI 
20 u 

speed . C 

£! 10 
Use the Line too l to fin ish a i:S 
j raph t hat accurately represents 
ason's t rip. 0 1 2 3 4 s 6 7 8 

Time (min) 

100 
~ 
QI 90 
~ 
E 80 
·= 
QI 70 
VI 
::) 
0 60 
J: 
,VI so C 
0 
VI 

"' 40 .... 
E 
0 30 st: 
QI 20 u 
C 

£! 10 
i:S 

0 1 2 3 4 5 6 7 8 

Time (min) 
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For this item, a full-credit response (1 point) includes: 

 all 3 segments correctly plotted 



    

   

    

  

Qj1 
Drag each number to its co rrect 
position on the number li ne . 
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10 
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For this item, a full-credit response (2 points) includes: 

 all 3 numbers placed in their correct position 

For partial credit (1 point), the student correctly places 2 numbers. 



    

  

   

Two sides of a r ight t r iangle have lengths of v'Io un its and v6 
units . There are two possible lengths fo r the th ird side . 

:Part A 

W hat is t he shortest poss ible side length, in units? 
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For this item, a full-credit response (1 point) includes: 

 the value 2 



    

  

   

Two sides of a r ight t r iangle have lengths of v'Io units and v6 
units . There are t wo possible lengths fo r t he t hird side . 

Wi 
:Part B 

!What is t he longest poss ible side leng=t h~ in~u"=n=its~?------------~ 
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For this item, a full-credit response (1 point) includes: 

 the value 4 
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1 

Kayla asked 10 students in her 2 
class whether t hey owned a dog 

3 or a cat or both. 

Drag one nu mber into each box 4 

to complete t he ta ble, given t his s Dog No Dog Total information : 
6 

• 40% of t he students own a 7 
Cat 

····" .. ··" ····" dog . 
8 

·, . ' . . 
No Cat ! ... ; 

. ' . ' 
• 30% of t he students own a ! ... ; ! ... ; 

cat . 9 
Total ' . 

' ' 10 
• 10% of t he students own 

•••• ,11 ! .. __ ; 

both a dog and a cat. 

Dog No Dog Total 

Cat : 1 : 
: .. -; 

: 2 : 
~ .. -; 

: 3 : : ... ; 

No Cat : 3 : . ' :4 : ' . : 7: ..... , .... " - -- • .# 

Total : 4: . -- .. " 
: 6: -- .. ' 10 
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For this item, a full-credit response (3 points) includes: 

  
AND 

  
AND 

 correctly placing numbers that sum to the totals of the corresponding rows 
and columns 

For example, 

For partial credit, the student completes the above tasks for 1 point each. 



    

  

 

filj 
Segment FG beg ins at po int F(-2, 4) and ends at po int G~ -2, -3). The seg ment is trans lated by <x - 3, y + 2 > 
ana then refl ected across t he y -ax is to form segment F' G . 

How long is segment F'G'? 

A Q 

(a' 2 

(c' 3 

(o' 7 
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For this item, a full-credit response (1 point) includes: 

 option D 



    

  

  

HD 
Coffee costs $2.00 per pound at 
a coffee shop. 

Use t he Add Arrow too l to draw 
a li ne t hat shows t he 
proportiona l relationship 
between the nu mber of pounds 
of coffee purchased and t he 
tota l cost. 

Coffee Cost 

6 

5 

-* 4 -.... 
Ill 3 0 u 

2 

1 

0 1 2 3 4 5 
Pounds of Coffee 
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6 

't Add Point -:; :- ftif#H bf ) 

Coffee Cost 

6 

5 

-* 4 -.... 
Ill 3 0 u 
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1 

0 1 2 3 4 5 6 
Pounds of Coffee 
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For this item, a full-credit response (1 point) includes: 

 a correct ray constructed 



    

  

 

m, 
A sphere and a cone have t he same vo lume. Each fi gu re has a rad ius of 3 inches . 

What is t he height of the cone? 

(A 4 in 

(e' 6 in 

(e' 9 in 

(o' 12 in 
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For this item, a full-credit response (1 point) includes: 

 option D 



    

  

 

fili 
Joe so lved t his li near system correctly. 

6x + 3y = 6 

y=-2x+2 

These are t he last t wo steps of his work. 

6x- 6x+ 6 = 6 

6=6 

Wh ich statement about t his li near system must be t rue? 

~ x must equal 6 

(a' y must equal 6 

@ There is no solution to t his system. 

@ There are infin ite ly many so lutions to t his system. 
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For this item, a full-credit response (1 point) includes: 

 option D 



    

    

        
 

     
 

         

      
  

 

      
 

      
 

      

flj:j 
Drag numbers into the boxes to 
complete each equation w ith the 
given number of so lutions. 

0 

1 
2 

3 
4 

5 

6 
7 

8 
9 

G 4•MGI ft 
A. Equation with no solutions 

8x - 3x + 2 - x == O x + D 

B. Equation with one solution 

8x - 3x + 2 - x == Ox + D 

C. Equation with infinitely many solutions 

8x - 3x + 2 - x == O x + D 
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For this item, a full-credit response (2 point) includes: 

 an equation with a slope of 4 and an intercept that is not 2 for part A 
AND 

 an equation that does not have a slope of 4 for part B 
AND 

 an equation with a slope of 4 and an intercept of 2 for part C 

For partial credit (1 point), the student correctly answers part B and either part A 
or part C. 

For example, 

      
AND 

      
AND 

      



    

  

      

 

   

  

 

   

 

   

 

   

      

 

      

 

   

      

Triangle ABC undergoes a series of some of the fo ll ow ing 
transfo rmations to become t riang1le DEF: 

• rotati on 
• refl ection 
• t rans lati on 
• dil ati on 

s triang le DEF always, sometimes, or never congruent to triang le ABC? Provide j ustification 
o sup art our conclus ion. 
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For this item, a full-credit response (1 point) includes: 

 the choice of sometimes  and a correct explanation 

For example, 

 triangle DEF is congruent to ABC under all translations, 
rotations, and reflections, but not under all dilations" 
OR 

 ,  

OR 
 , because only rotations, translations, and reflections give a 

 

For this item, an incorrect response (0 points) includes: 
 the choice of always  or never  

OR 
 The choice of ometimes  with an incorrect explanation 

For example, 
 ,  

This item is not graded for spelling or grammar. 



    

  

     

 

      
  

  
 

  

    

      
 

       

 

   

      

Triangle ABC undergoes a series of some of the fo ll ow ing 
transfo rmations to become t riang1le DEF: 

• rotati on 
• refl ection 
• t rans lati on 
• dil ati on 

[Part B 

!Is triang le DEF always, sometimes, or never similar to triang le ABC? Provide j ustification to 
:~qpgort ou r conclusion . 
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For this item, a full-credit response (1 point) includes: 

 the choice of always  and a correct explanation 

For example, 

 Always; by the definition of similarity, triangle DEF is the result of 
translations, reflections, rotations, and dilations and is therefore similar to 
triangle ABC.  
OR 

  

For this item, an incorrect response (0 points) includes: 

 the choice of sometimes  or never  
OR 

 the choice of always  with an incorrect explanation 

For example, 

 "Always, because triangle DEF  

This item is not graded for spelling or grammar. 



    

  

    

 

Hii 
John and Kim wrote down t wo 
different functions t hat have t he 
same rate of change . 

John 's function is represented 
by t he tab le shown. 

m 
Use t he Add Arrow too l to graph 
a function t hat cou ld be Kim's 
function. 

y 

G @NSI 

-+--+-+-1--+--+-+-+--+--+-+-+--+--+-1--+-++- x 
-a -6 -4 2 2 4 6 8 

-2 

-4 

-6 

-a 

-8 

't ftiOffiJM ¥ ftijtkH N 

-6 -4 -2 

8 

6 

4 

2 

-2 

-4 

-6 

-s 

y 

) 

X 
2 4 6 8 
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For this item, a full-credit response (1 point) includes: 

 a graph with a slope of 2 

For example, 



    

  

        

fij,j 
Look at t he graph of t he liinear equatlon .. 

y 

7 

5 
---4 + ... 

3 

- 3 

- 5 

- 7 

Write an equation for t he liine iin sl~ope- iinteraept form .. 

®8®0@ 
[I]000w 
000 GQ0B 
000 G@B~G 
~D[J OO~LlwJ~@0 
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For this item, a full-credit response (1 point) includes: 

 a correct equation, such as     



    

   

  
 

      

Hid 
Kyle was g iven a problem to 
so lve. Th e problem and his 
work are shown. 

Se lect t he part of Ky le's work 
t hat conta ins a m ista ke . 

Then, se lect t he part of the 
pro blem Ky le shou ld read aga in 
to fi x h is m istake. 

r 

A company sells baseball gloves and bats. The gloves 
regularly cost $30 and the bats regularly cost $90. The 
gloves are on sale for $4 off, and the bats are on sale 
for 10% off. The goal is to sell $1200 worth of bats and 
gloves each week. Last week, the store sold 14 gloves 
and 9 bats. 

Did the store meet its goal? 

1. $30 2. $90 3. $900 
- $4 -:- 0.9 + $364 
$26 $100 $1264 

$26 $100 
X 14 X 9 
$364 $900 
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For this item, a full-credit response (1 point) includes: 

  
AND 

      



    

  

    
 

    
 

   

wa,, 
A game t hat uses a spinner and 
t wo number cu bes is played at a 
game night . To w in t he game, a 
player must have t wo resu lts : 

• The spinner's arrow stops in 
a red section. 

• The number cu bes both land 
w it h an even number facing 
up. 

The person in charge of game 
night wants 10% of t he players 
to w in. 

Drag one color into each section 
of t ne spinner to des ign a 
spinner t hat reaches the goal. 

I Blue G 4 ffi¢j 
., 

I Green I 
I Red I 
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For this item, a full-credit response (1 point) includes: 

 two red sections 
AND 

 two blue sections 
AND 

 one green section 



    

  

  

Ehl 
Look at this graph of a function. 

y 

Which equat ion represents a function with a rat e of change that is gre.ater than the rat e of change of the 
function shown in the graph? 

(A'l y = 3x-1 

(8) y=~+4 

(cl y = 2 x +2 

(o) y=~-3 
3 
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For this item, a full-credit response (1 point) includes: 

 option A 



    

  

    

 

HD 
Use t he Add Arrow too l to graph 
a system of t wo equations t hat 
has a single so lution of 
(-2,-3). 

8 

6 

4 

2 

-8 

y 
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For this item, a full-credit response (1 point) includes: 

 any 2 lines that intersect at the point   

For example, 



    

  

  
 

 

l(•}-f) 
Look at t hese nu mbers. 

v'2, v'3, v'S, v'7 

Classify t he numbers by selecting all t hat app ly. 

integer 

irrationa l 

r rationa l 

C rea l 
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For this item, a full-credit response (1 point) includes: 

 option B 
AND 

 option D 
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